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QUESTION 1

If a servlet-based software module is not responding, what are two examples of log information provided in the servlet
container logs for the Java Method Server and similar modules?

A. data file I/O failures and SQL query response timing

B. standard output and http request/response

C. user authentication failures and record of application events

D. RPC command trace information and Content Server response timing

Correct Answer: B

QUESTION 2

You have a client with offices on four different continents. They have a primary repository located in the United States,
which they want to share with all offices. The offices outside of the U.S. have very minimal IT support available. The
content is mostly read-only, with most of the updates done in the

A. S. The same content is used at all the remote locations. The content files are very large, and take a long time to
download at the remote locations. What repository configuration would require the least IT support at the remote offices
and still deliver a local copy of frequently-used content?

B. place a Content Server at the U.S. site with distributed filestores at each remote site

C. place a Content Server at the U.S. site and place Branch Office Caching servers at the remote sites

D. place Content Servers at all sites and use replication to move the shared content from the primary repository to the
content servers at the remote sites

E. place a content server at the US site with distributed filestores at each remote site and use replication to move the
shared content from the primary repository to the content servers at the remote sites

Correct Answer: B

QUESTION 3

Users should be able to access documents only if they are citizens of a NATO country, and if they are granted Top
Secret clearance. Users in the system are members of a group matching their country of citizenship. What Permission
set structure will fulfill this requirement? 4 * Contains a group for each NATO country 9 * Contains a group for each
NATO country and the Top Secret group.
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A
Object Description Permit  |Farmit Type
Fequired Grodp SefdATD Countries”® WERSIDMN[ACcess Pemit
Fequired Group Top Secret ClearancevERSIDOMNACcess Pemit
Wiorld MONE  [Aceecs Peormit
B.
Objact Description Permit_ |Purmit Typs
Feguired Group|LIS Cidrens WVERSIDNAccess Pemmil
Feguired GroupliSernan Citizens VERSIDM Access Pomit
Feguired Group| . (for each HATS county IVERSIDMIAccess Parmit
Fenquired Croup|Top Secret Clearance VERSIDMACEess PEmt
Warld NOME  |[Sccess Pemit
C
Obecr Cescription Permit  |Parmit Type
Feguired Group Set TMATO Secret UsersVERSION Pocess Pemit
Warld HOKE  JAccess Pemit
0.
Object |[Description [Permit  [Permit Typs
| Required Group|Confidential Leve! UsergNONE [Access Pemil]
| Ruquired GrouplSecret Leve| Users  INONE _ JAccess Peimil
Reduired 5 Top Secret Uiserg WVERSIONACe psz Permil
Required Growgl WAT O ClliTens WERSIOWMACT ez Permit
Wyorid HOME  jAccess Pemmnit
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 4

Which statement about audit trails is true?

A. Users can view, modify, and delete their own audit trail entries.

B. All audit trail entries are available to all users who have BROWSE permission to the audited object.
C. Users must have purge audit privileges to remove audit trail entries.

D. Only the installation owner has the ability to alter the audit trail.

Correct Answer: C

QUESTION 5
Which method execution agent will use a dmbasic method that has the use_method_server attribute set to F?

A. Dmbasic Method Server
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B. Java Method Server
C. Content Server
D. DO_METHOD administration method

Correct Answer: C
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